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Please check that this question paper contains 23 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 42 questions.
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attempting it.

15 minutes time has been allotted to read this question paper. The question
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the answer-book during this period.
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General Instructions :
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The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number 1 to 8 in Section A are one-mark questions. These are to
be answered in one word or one sentence.

Questions number 4 to 7 in Section A are two-mark questions. These are to
be answered in about 30 words each.

Questions number 8 to 19 in Section A are three-mark questions. These
are to be answered in about 50 words each.

Questions number 20 to 24 in Section A are five-mark questions. These are
to be answered in about 70 words each.

Questions number 25 to 42 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.
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SECTION A
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Give reason why noble gases are placed in a separate group in modern
periodic table.

ol % ST B fore e s Tad @ Tm fafen |

Name the genetic material that is responsible for inheritance of traits.

Sl T e a1 @ i Q) I R S s st oA o
s= % fore gem @ € |

Write any two ways that you can suggest at home to save water which is
a valuable resource.

s TaHH % = et <l g SRy |

List four advantages of vegetative propagation.

e i g o wfeferst S =R o < gEh ST |

List four properties of images formed by plane mirrors.

I TR @hEd R wieefi A 3l % swm W i @m @ R
uichief 1 At i ga § Fue e S % i & ITT AW A h
T T |

Government of India is imposing ban on the use of polythene bags for
shopping. List four advantages of using cloth or jute bags over polythene
bags.

“g fafrear” F o1 1 Sear@ HIRT | @9 T 97 SfEH b HREO % & A
6 = w1 |

State the meaning of “biodiversity”. List two advantages of conserving
forests and wildlife.
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What is meant by functional group in an organic compound ? State in
tabular form the structural formula and the functional groups present in
(i) ethanol and (ii) ethanoic acid.

awﬁ:?ﬂﬁﬁme%wmz C3Hg A1 C3Hg % | 39 3l & @
m_mmmmmvmmwﬁﬁm | 39 TR i
maﬁﬁwmsﬁM@m%%ﬂmm%ﬁml

Two carbon compounds P and Q have the molecular formula C3Hg and
C3Hg respectively. Which one of the two is most likely to show addition

reaction ? Justify your answer. Also give the chemical equation to explain
the process of addition reaction in this case.

& A (T §& N 17) a1 @ B (W F@n 19) % s famm
WIWAHWWB%W‘@@WWI{:{W | 9 T IeTg
@Wﬁ-ﬁgéﬁmdﬁ%ﬁmﬁmﬁmﬂ@uﬁaﬂmw I
Write the electronic configuration of element A (At. No. 17) and element
B (At. No. 19). State the formula of the compound formed when element

A combines with element B, Draw the electron-dot structure of the
product and state the nature of the bond formed.
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The following table shows the position of six elements A, B, C, D,
F in the modern periodic table :

E, and

Group
7 1 2 3tol12 | 13 14 15 16 17 18
Periof
2 A B C
? 3 D. B F

Using the above table, answer the following questions :

(a) Name the element which forms only covalent compounds.
() Name the element which is a metal with valency 3.

(¢) Name the element which is a non-metal with valency 3.

(d  Outof D and E, which one is bigger in size and why ?

| (e)  Write the common name for the family of elements C and F.

12.  ¥aw wwitea el 1 wEwEa & e # f@ve guisy |

Only with the help of labelled diagrams show binary fission in Amoeba.

18. A T S A S A R e w3 Q) e o e s
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List two functions of each one of the following parts of the human female
reproductive system :

(6] Ovaries
(i)  Fallopian tubes
(iii) Uterus

Sfa Igwad % e Serarlt fF 9@ et 6 R SR A g H A
HIRTT |

List three main factors responsible for speciation and describe each one of
them.

Te IO & # el hi @ fredi, Srd o M qon R A A qon gwd
FeR T et <fisil F, % i FH FHEn ™o

(@) F, it F1 Frirersy fafae | ama I 1 Hrw dfv |

(b) F, 9 #§ @WwREW g WH F, G % dei & B ger qon 39
yftreraar fafaw |

A cross was made between pure breeding pea plants with round and

green seeds and the other with wrinkled and yellow seeds.

(a)  Write the phenotype of the F; progeny. Give reasons.

(b)  Write the different types of Fy progeny obtained along with their
ratio when F; progeny were selfed.

() T ¥ Smrddt, qun (i) AT % e gw adi # S fRu S 9
a‘hﬁ%mwsﬁ@mlmmﬁaa&vﬁ%wfmmﬁﬁ
¥ A o 3 AT |

State the types of spherical mirrors used for (i) vehicles headlights, and
(ii) rear view mirrors in vehicles. List two reasons to justify the use of

these mirrors in each case.
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A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 24 ¢m at a distance of 16 ¢cm from it. Use lens formula
to determine the position, size and nature of the image formed.

g % fsw gr vaa yehm w1 g quit % faw s dife | i 6 oug
% @ Rl W ofrier 2R aret @ T Amifea Ff | o Aifs o e
quit <1 fertot fisw & fr-fire fefoa =0 @t € 2

Draw a diagram to show dispersion of white light by a glass prism. Label

the colours that appear at the two ends of the colour band. State the
reason why different coloured rays deviate differently in the prism.

3 A wateror-feadt smedt it et ssw R oty et &fh Sfiem § s
=N | g sifere o faflEe |

List three environment-friendly practices which you would like to form a

part of your daily habit, giving justification for each .

F1 FE NE X A foremg B e o B a9 sEh s g
CoH,0, 2 | X 1 Tg=IT qo 3eeht g it | = fig g wes we
# g1 areht iR 1 TRl aieRr a9 9T Sl % A feRay
S X # aAfufsean

(a) AT % WY Gig HyS0, 1 Jufedfa # & 2 |

() wifemm FEe F T AR R |

A carbon compound X turns blue litmus to red and has a molecular
formula CyH4Og. Identify X and draw its structure. Write chemical
equation for the reaction and name of the product formed in each case

when X reacts with
(a)  ethanol in the presence of conc. HoSOy.

(b)  sodium carbonate.
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Give one example each of a unisexual and a bisexual flower.

How is the number of chromosomes of the parent cells maintained
in the cells of the offsprings of sexually reproducing organisms ?

Mention the changes the flower undergoes after fertilization.

mmﬁmmﬁm@sm‘éﬁ&mmﬁﬁm%?w
i |

meﬁaﬁﬁéﬁwﬁ?mwﬁmmﬁﬁm

Why can fertilization occur only once in a month in a human
female ? Explain.

Prenatal sex determination has been prohibited by law. State the
necessity of enforcement of this law.

Where are human testes located and why ? State their functions.
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With the help of a ray diagram, state the meaning of refraction of

light. State Snell’s law of refraction of light and also express it

mathematically.

The refractive index of water with respect to vacuum is 4/3 and
refractive index of vacuum with respect to glass is 2/3. If the speed

of light in glass is 2 x 108 ms™!, find the speed of light in

(i) vacuum, (ii) water.

T ¥ % 39 A B G SR S A H WA ATl SR <l AE
&) Frifd = § | sare it £ 98 30 S A R TR FE E

e 3 # e (gfeem) 1w fafew |
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eI 3 g % AT @ Bt I e % $ I G |

List the parts of human eye that control the amount of light

entering into it. Explain how.
Write the function of retina in human eye.

If due to some disease or injury the cornea of an eye is clouded,
then the vision is impaired and the person may become blind. This
type of blindness may be cured by replacing the defective cornea
with the cornea of the donated eye. Suggest some measures for

motivating people to donate their eyes after death.

9 PO:
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A student takes 5 mL acetic acid in test tube X and adds 3 mL distilled
water into it. In test tube Y, he takes 5 mL distilled water and adds 3 mL

acetic acid into it. After the mixtures settle down, he observes
(A)  colloid is formed in both test tubes

(B) homogeneous mixture is formed in both test tubes

(C)  colloid is formed in X and homogeneous mixture in Y
(D) homogeneous mixture is formed in X and colloid in Y

S A forelt wrEeht § HifsTm gRgem s 1 fReem o 39 Whies
o firemd € o Wl % 4@ W W foued & 9 # Y e W
o §

(&) g faewe % Y S @

(B) it foudt 9o S @

(©) foudt $i saren W HE woE @ v

(D) Toudt digan & S ST A R

When we add 'sodium hydrogen carbonate solution to acetic acid and |
bring a burning splinter at the mouth of the test tube we observe that

(A)  the gas burns with explosion

(B)  the burning splinter extinguishes

(C)  the flame of the splinter is not affected

(D)  the splinter starts burning rapidly

10





[image: image11.jpg]27.

28.

317211
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A student has to prepare 20% aqueous solution of sodium hydroxide
solution for the study of saponification reaction. On opening the lid of the
bottle of sodium hydroxide, he would observe that it is in the form of

(A) fine white powder

(B)  white pellets/flakes

(C)  small white beads

(D) colourless, transparent beads

T TN AU g iR B AERA A §H B $O & H
3 | PrfaRaa Seo § & arfifmn frsor qon aifufsen & yohr & fowa & =&
Q&TUT@'H%Q

(Aa) il fugor et @ qen rfifshn Fsmad B

B) il o et R qen il Semad @

(©)  frfsran fsor el R qen siftrfmen SeATei @

(D) frfspan fysror arefia @ @ sfifshan e R

While studying saponification reaction for the preparation of soap we
make certain observations. Select from the following the correct
observation about the reaction mixture and the type of reaction :

(A) The reaction mixture is acidic and the reaction is exothermic
(B) The reaction mixture is basic and the reaction is exothermic
(C) The reaction mixture is basic and the reaction is endothermic

(D) . The reaction mixture is acidic and the reaction is endothermic

i PiTQ.
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A student takes about 5 mL distilled water in four test tubes marked ot
Q, R and S. He dissolves sodium chloride in P, potassium chloride in Q,
calcium chloride in R and magnesium chloride in S. After that he adds
equal amount of soap solution in each test tube. On shaking these test
tubes he would observe a good amount of lather in the test tubes marked

(A) PandQ
(B) QandR
(C) RandS
(D) PandS

et B 3 sraaw gdw w1 W w0k Ragh B e B ghe © W Bk
fop | sweh e weiew 3 7w foowuft 1 % ador 1 e g 1 i s
A AH HE % 38 fee que fe (g ) mefea 30 ®) W W
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(D) * o i 9 1 3P e wwHT =g
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[image: image13.jpg]A student obtained a sharp image of grills of a window on a white screen

using a concave mirror. His teacher remarked that for getting better

value of focal length of the mirror he should focus a well let distant object

(preferably the Sun) on the screen. What should the student do for this

purpose ?

(A) Move the mirror and the screen towards-the object
(B) Move the mirror and the screen away from the object
(C) Move the screen slightly away from the mirror

(D) Move the mirror slightly towards the screen
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[image: image14.jpg]To determine the focal length of given convex lens by obtaining a shar
image of a well lit distant object on a screen, a student generally follow
the following steps which are not in proper sequence.

I Adjust the position of the lens to obtain a sharp image.
II. Select a well lit distant object.

III.  Hold the lens between the object and the screen.

IV.  Place a screen opposite to the object on the lab table.
¥y Measure the distance between the lens and the screen.
The correct sequence of these steps is

@ ILHLIV.LV

(B) ILIV,IILIV

© ILIULILIV,V

(D) I LILIV,V
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SRRET FT T AT R | I S HN0 4, ST9EdT B0 - 9 fika

e 1 71 A2 R IgEn R |
EIE] I I 7 HI0 e
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D 60° 35° 61°
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[image: image15.jpg]An experiment to trace the path of a ray of light through a glass slab was
performed by four students A, B, C and D. They reported the following
measurements of angle of incidence i, angle of refraction r and angle of
emergence e.

Which two students have performed the experiment cautiously ?

(A)
B)
©
(D)

Student | Anglei | Angler | Anglee
A 30° 20° 29°
B 40° 30° 41°
c 50° 36° 49°
D 60° 35° 61°

Aand B
BandC
Cand D

AandD

L 33, ot o # STATRR Hie % W A T Tl TH TH™ R 1 99 smfEd

ﬁqaﬁvﬁiﬁfaﬂdﬁﬁaﬁﬁmw%éaﬁwé

(A
B)
©)
D)

311211
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A student traces the path of a ray of light through a rectangular glass
slab and marks the angle of incidence i, angle of refraction r and angle of

emergence e as shown :

The angles not correctly marked are

(A) iandr
(B) rande
(C) iande
(D) i,rande

aﬁa%ﬁ;ﬂégﬁﬁmeﬁ%@ﬁm-mmwaaﬁ‘@am%ma

& o 1 wifire (37) g0 @l =
(A) 2-3cm
(B) 3-5cm
(C) 6-8cm

(D) 10-15cm

For tracing the path of a ray of light through a glass prism, the ide:
distance between the two pins is

(A) 2-3cm
(B) 3-5cm :
(C) 6-8cm

(D) 10-15cm

16
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Study the following diagrams in which the path of a ray of light through

a glass prism as traced by four students A, B, C and D is shown :

The student who has traced the path correctly is

(A)
(B)
©)
D)

A

B
C
D

(o]

PTLO.
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Study the following ray diagram drawns by four students to locate the
position of the image formed by a convex lens when the object is placed at
2F.

F, 2F, Fy 2F,
AR 2F; F
1 i
‘_,\ ~_F; 2F, 2F,
¥ \'V“_’A' oF, F
m v
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The correct ray diagram is that of student

@A)
B
©)
(D)

I
11
111
v

ﬂ%mhmﬁ{maﬁ@ﬁﬁaﬂﬁﬁﬁﬂﬁiﬂﬁﬁ?!?ﬁﬁﬁaﬁmﬁ
R 7 BRT N g H P w1 aeR 7@ R E, S i I

el O gr Y it 6 feuf T e § S A R S wh @ |

(A)
(B)
©
(D)

293
394
49 5
295

i

Out of the five incident rays shown in the following figure, find the two
rays that are not obeying the laws of refraction and as such cannot be

used for locating the position of image formed by a convex lens.

(A)
(B)
(©)
(D)

2and 3
3and 4
4and 5
2 and 5
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After observing various slides of binary fission in Amoeba a student made
the following observations :

& In this process a big cell and a small cell are formed.
i In this process two daughter cells are formed.
III. At the end of the process cytokinesis is completed.

IV. At the end of the process identity of the parental cell is lost.

The correct observations are

A) LIILII
B) ILILIV
(©) LILIV
®). L,H,IV

20
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(A)

(B)

©)
(D)

mﬁéﬁﬁﬁhwﬂmﬁaﬁm,lﬂwaﬁﬁmﬁ@%ﬁsﬁwwﬁ
T H5
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A student was given two slides, one of the binary fission in Amoeba and
the other of budding in yeast. He was asked by his teacher to identify one
difference in the number of nuclei in each one of them. He observed the
slides carefully under high power of microscope and identified the two
slides on the basis of presence of

(A)

(B)
©)
(D)

two nuclei in the centrally constricted. Amoeba, one nucleus in the
yeast cell and one in the bud

two distinct nuclei in Amoeba, one in yeast cell and two in its bud
one nucleus in Amoeba, two in yeast and one in bud

single nucleus each in Amoeba and yeast cell and none in the
attached bud

ﬁﬁqwmﬁmmﬁw{raﬁmgﬁq :

L
II.
III.

(A)
(B)
©)
D)

aférll % 9@ qun HIef F TE guey A E |
kR % v qu WS A ey W i |
il % dw e et % v wurte e § |
uférii % Y@ g SHEE % e HHed o § |
19 1o &

119 101 98t §

19 1198 &

19 IV ad §
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Study the following statements and select the correct choice :

55 Wings of birds and wing of insects are analogous organs.

II.  Wings of birds and forelimb of horse are homologous organs.
III. Wings of birds and wings of insects are modified forelimbs.
IV. Wings of birds and wings of bats are homologous organs.
(A) Iand II are correct

(B) “II and III are correct

(C) Iand III are correct

(D) III and IV are correct
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A student wants to collect analogous organs for his project. Which one of
the following pairs would you suggest ?

(A) Forelimbs of frog and forelimbs of bird

(B) Thorn of bougainvillea and a tendril in cucurbits

(C) Wings of an insect and wings of a bird

(D) Forelimbs of horse and human arm
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A student draws the diagram of a dicot seed to show the different parts of

its embryo. He has marked i

ts parts as A,B,C and D :

The correct labelling of these parts respectively is
(A) Plumule, Radicle, Cotyledon, Seed coat
B) Plumule, Radicle, Seed coat, Cotyledon
(C) Radicle, Plumule, Cotyledon, Seed coat
(D) Radicle, Plumule, Seed coat, Cotyledon
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